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(English Version)

Note :

(i) First 15 minutes time has been allotted for the
candidates to read the question paper.

(i1} This question paper is divided into three parls,
A BandC.

(iii) First question of each part is a multiple choice
type question in which four alternative answers
are given in each. Select the correct answer and
write down in your answer-book.

(iv) Attempt all the questions of each part together
at one place. Each part should be attempted on
a new page.

(v) All questions are compulsory.

(vi) Marks allotted for each question are mentioned
against them.

(vii) Illustrate your answers with neat and labelled
diagrams and chemical equations, wherever

necessary.
PART A

1. (a) Refractive index of the medium with
respect to air, is maximum for :

(i) Water

(i)  Diamond

(iii) Glass

(iv)  Turpentine oil

824 (BJ) 8
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To remaove myopia or short saghted e

one should use the spectacles with - /

M Concave lens

(i) Concave mirror

(iiiy  Convex lens

(ivi  Convex mirror

Magnetic lines of foree : /
(i) are always parallel

(1) mect at a point

(iii)  do not intersect cach other

(iv) intersect each other

If 6 = Magnetic flux, B = Intensity

of magnetic field and A = Area of
cross-section, the correct relation among
these is : i
iy B=o/A

(i) o=B/A

(iii)y A=B.o

fivi B=¢.A
The image of an object placed on the
principal axis at 30 cm from the pole of a
concave mirror is formed on the object
itself. What is the focal length of the
mirror ? 2
Find out the radius of curvature of a
concave mirror of focal length 40 cm. 2
Why is convex mirror used in auto
vehicles 7 2

9 P.T.O.

3. (a)

(b)

824 (BJ)

A concave lens of 15 cm focal lengty,
fo.rms the image of an object at
dl'stance of 10 em from the lens. At what
distance is the object situated from the
lens ? Draw ray diagram also.

OR

A man using spectacles, can observe
cl.early an object placed at 25 cm
distance. The focal length of the lens
u§ed in the spectacles is 50 cm. At what
distance can the man read a book
without using the spectacles ?

An electron of mass 9 x 1073! kg and
charge 1-6 x 10719 coulomb is moving
with velocity 3 x 10° m/sec parallel to
X-axis and enters into a magnetic field of
0-3 Weber/m? parallel to Z-axis.
Determine the force acting on the
electron, acceleration and the direction of

force.
OR
The resistances 2 Q, 3 Q and 5 Q are
If a potential difference

joined in series.
of 30 volt is applied at the ends of the

combination, calculate the potential
difference between the ends of each

resistance.
10



5.

{o you understand by magnetic effect of
electric current ? On which factors does the
intensity of ,,,agn.etlc ficld due to o straight
Jong current carrying cond.ucto.r depend ? Write
down the law for the direction of magnetic

field.

What ¢

OR

What is the principle of electric motor ?
Describe its construction using labelled
diagram. Explain its working. Write the uses of

electric motor.
PART B
(a) The pH value of pure water is :
@ o0 (i) 1
(i) 7 o (v) 14

(b) The metal which removes hydrogen from

acid is :
(1) Zn (i) Cu
(i) Ag (iv) Hg

(¢c) The chemical formula of propane is :

i) CH, (i) CgHg
(iii) C,H,, (iv) C,H

(a)  Write the IUPAC name of the following

4(8Y)

i) CHyCH,CH,CH,
i) CHyCOOH

11 P.T.O.

ov's periodic 1aw and

reactions :
conc.

—_-_'———"

(@) Write the name and chgmical formulae
of washing soda and baking soda.

(b) Explain the double displacement
reaction with examples.

(a) What is corrosion ? Explain it with
example. hups://www.upboardonline.com

(b) Write a short note on Saponification.
(¢) Define Period and Groups in the
periodic table.
OR
Write short notes on the following :
(a) Redox reaction
(b) Homologous series

(¢) Characteristics of Mendeleev’s periodic
table

824 (BJ) 12
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9.

(b)

(c)

(d)

24 (BJ)

PART C

The processes by which complex organic
molecules are broken down into simpler

molecules are : 1

) anabolic reactions
(i)  catabolic reactions

@¢ii)  Both (i) and (i1)

(iv)  normal reactions

Which of the following vitamin
deficiency causes Pellagra disease ? 1
(i) Vitamin B,

(ii))  Vitamin By

(iti)  Vitamin Bg

(lV) Vitamin Bl2

Haemoglobin plays a significant role in : 1
(i) respiration  (ii) excretion
(iii)  digestion (iv) nutrition
Translocation of food by Phloem occurs
in the form of : 1
(i) protein
(i)  fats
(iii)  sucrose
(iv)  fatty acids

P.T.O.

13

10 @) Whieh enzyme is found in saliva and
Which  substance does that enzyme

digest ? il
(b)  Draw a labelled diagram of pollen grain. 2

(¢)  What is regeneration ? Give any two

examples of it. I+ é +{;

11. (@) What do you know about monohybrid

and dihybrid crosses ? 242
OR
What are sex-linked diseases ? Name
any two sex-linked diseases. 242

(b)  What is double circulation ? Explainit. 242
OR

What do you know ahout family
planning ? Describe any two methods of
family planning, 242

824 (BJ) 14
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Difterentiate  hetween
mldrm.c“""
¥ N . une
K noceiun, Explain  functions . |
x,l'. ;
nd

differentiate  between pollinati.
m

ane

fertihization.
24243

OR
Explain Mendel's law of segregation by
monohybrid cross and also explain  the
genotype and phenotype of generation

obtained by it.
S5+1+1
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